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An organism that lives with(in) another organism in which both gain from
the relationship (mutualistic relationship).

Defensive symbiosis:
One of these organisms gains a level of defence against a disease/pest.
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Assumptions and questions to answer:

* How does defence occur? €«—
* How does the pathogen evolve?
* What are the costs of protection?

Tolerance shields the host from the harmful effects of the pathogen.

Two forms of tolerance - “Fecundity tolerance” and “mortality tolerance”.
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Fecundity tolerance prevents vertical transmission, mortality tolerance reduces virulence.

Resistance protection is all about making the host more resistant to infection

For modelling purposes, takes the form of a reduction in transmission when harbouring the
defensive symbiont compared to without

Resistance
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Assumptions and questions to answer: New births
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Question: Can defensive symbionts be used
as a biocontrol against parasitic infections?
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symbionts and the evolution of
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Evolution Letters, 2023
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